T X HTA A1)

% # L[e] # = A % %
AL IREMHER IREE AN TREEER REER
SM6E | HFLE | HE | HH6E | HHSE | B | HW6E | HFSE | BB | HF6E | HFLE | R | HF6E | HFSE | EE | HH6E | HHSE | ERE
B T B % 852 879 -27 364 367 -3 42.7 41.8 0.9 50 75 -25 84 35 49 168.0 46.7 121.3
M L 442 433 9 169 125 44 38.2 28.9 9.3 25 29 -4 31 14 17 124.0 48.3 75.7
PRCE A5 268 263 5 89 80 9 33.2 30.4 2.8 11 6 5 18 6 12 163.6 100.0 63.6
56 FK 54 61 -7 26 10 16 48.1 16.4 31.7 3 3 6 1 5 200.0 33.3 166.7
SHbHERK 31 29 2 19 10 9 61.3 34.5 26.8 2 2 4 1 3 200.0 -l 200.0
5 bHbmEK 89 80 9 35 25 10 39.3 31.3 8.0 9 20 -11 3 6 -3 33.3 30.0 3.3
B2 B W 207 262 -55 93 153 -60 44.9 58.4 -13.5 8 27 -19 28 14 14 350.0 51.9 298.1
b= 1 34 29 5 23 18 5 67.6 62.1 5.5 2 3 -1 4 2 2 200.0 66.7 133.3
F B 0w 22 19 3 7 6 1 31.8 31.6 0.2 1 -1 1 1 -
¥ B W 25 14 11 9 9 36.0 64.3 -28.3 5 2 3 4 1 3 80.0 50.0 30.0
H R @ 5 5 7 -7 140.0 | -140.0 3 -3 - -
E S S 23 28 -5 11 7 4 47.8 25.0 22.8 2 -2 1 1 -
ST 7 7 1 3 -2 14.3 - 14.3 1 1 -
R W 5 5 1 1 20.0 20.0 1 1 -
& @1 ™ 10 10 10 6 4 100.0 60.0 40.0 2 2 6 6 300.0 300.0
B FE A M 8 14 -6 6 6 75.0 42.9 32.1 1 -2
KB W 18 7 11 5 5 27.8 27.8 2 -2 1 1 -
E E @ 8 -5 7 3 4 233.3 37.5 195.8 1 1 - -
x % 0w 4 11 -7 1 7 -6 25.0 63.6 -38.6 - -
b= ) 19 9 10 6 4 2 31.6 44.4 -12.8 4 1 3 1 1 25.0 25.0
AN AR AN ET 4 7 -3 1 -1 14.3 -14.3 - -
HEEF B 4 4 3 -3 - 1 1 -
e mp =y ity 3 3 1 -1 33.3 -33.3 - -
/)N B B % i BT 3 3 7 1 6 233.3 333 200.0 5 5 - -
HEBIEN - - - -
= AR 8% %7 A7 1 3 -2 3 3 300.0 300.0 1 -1 -
s I BB B o T 2 2 1 3 -2 50.0 150.0 | -100.0 1 -1 1 -1 - 100.0 | -100.0
s EH BB 2= 2 AT 1 1 - - 1 1 - -
EHBEEAN 1 -1 - - -
AKEBAKEGHT - - . -
A K BB 3£ K HT 3 -3 2 -2 - 66.7 -66.7 - -
AEE R {5 o e 2 3 -1 1 1 50.0 33.3 16.7 1 -1 -
TH - BAE 1 1 2 2 200.0 -l 200.0 - -




T X HTA A1)

B3 Y 7] &= 3 2 A % %=
AL IREMHER IREE AN TREEER REER
SM6E | HFLE | HE | HH6E | HHSE | B | HW6E | HFSE | BB | HF6E | HFLE | R | HF6E | HFSE | EE | HH6E | HHSE | ERE
B T B % 332 395 -63 33 31 2 9.9 7.8 2.1 470 409 61 247 301 -54 52.6 73.6 -21.0
M L 181 237 -56 20 20 11.0 8.4 2.6 236 167 69 118 91 27 50.0 54.5 -45
PRCE A5 113 158 -45 10 11 -1 8.8 7.0 1.8 144 99 45 61 63 -2 42.4 63.6 -21.2
56 FK 24 38 -14 3 4 -1 12.5 10.5 2.0 27 20 7 17 5 12 63.0 25.0 38.0
SHbHERK 17 13 4 2 1 1 11.8 7.7 4.1 12 16 -4 13 8 5 108.3 50.0 58.3
5 bHbmEK 27 28 -1 5 4 1 18.5 14.3 4.2 53 32 21 27 15 12 50.9 46.9 4.0
B2 B W 95 110 -15 8 4 4 8.4 3.6 4.8 104 125 -21 57 135 -78 54.8 108.0 -53.2
b= 1 8 3 5 1 1 12.5 12.5 24 23 1 18 16 2 75.0 69.6 5.4
F B 0w 7 4 3 1 1 14.3 25.0 -10.7 15 14 1 5 5 33.3 35.7 2.4
¥ B W 8 4 4 1 1 12.5 25.0 -12.5 12 8 4 4 7 -3 33.3 87.5 -54.2
H R @ 2 1 1 3 4 -1 4 -4 100.0 | -100.0
E S S 13 14 -1 10 12 -2 10 7 3 100.0 58.3 41.7
ST 3 3 2 -2 - 3 3 1 1 33.3 - 33.3
R W 1 1 1 1 100.0 100.0 3 4 -1 1 -1 25.0 -25.0
& @1 ™ 2 5 -3 1 1 50.0 50.0 6 3 3 3 6 -3 50.0 200.0 | -150.0
B FE A M 1 5 -4 6 6 6 6 100.0 100.0
KB W 2 2 - 16 5 11 4 4 25.0 25.0
B FE ® 1 1 - 2 8 -6 6 3 3 300.0 37.5 262.5
x % 0w 1 1 1 -1 100.0 | -100.0 3 10 -7 1 6 -5 33.3 60.0 -26.7
b= ) 3 4 -1 1 -1 25.0 -25.0 12 4 8 5 3 2 41.7 75.0 -33.3
AN AR AN ET 2 3 -1 2 -2 1 -1 25.0 -25.0
HER R 5 BT 1 1 - 2 2 3 -3 -
% O AR 2 AT 1 -1 - 3 2 1 1 -1 50.0 -50.0
/)N B B % i BT 1 -1 - 3 2 1 2 1 1 66.7 50.0 16.7
HEBIEN - - - -
= AR 8% %7 A7 - - 1 2 -1 3 3 300.0 300.0
s I BB B o T - - 2 1 1 1 2 -1 50.0 200.0 | -150.0
s EH BB 2= 2 AT - - - -
EHBEEAN - - 1 -1 -
AKEBAKEGHT - - . -
A K BB 3£ K HT 1 -1 1 -1 - 100.0 | -100.0 2 -2 1 -1 - 50.0 -50.0
AEE R {5 o e 1 1 - 1 2 -1 1 1 100.0 50.0 50.0
TH - BAE - - 1 1 2 2 200.0 -l 200.0




